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�8т4л89 Ло<о6 



��&�О��Л0�/� � О�К& «���О� �$�/» 

2 

�4F8о=4лP=O9 пDоект (5 DедеD4лP=OE пDоекто6) 6 EтDуктуDе <49Eко7о ук474 
пDе78де=т4, O6лOетEO од=8< 87 клNGе6OE, о= DоD<8Dует поте=F84лP=Oе 
6о7<о6=оEт8 длO Dе4л874F88 6EеE оEт4лP=OE =4F8о=4лP=OE пDоекто6. 

!о7д4=8е длO 6EеE к4те7оD89 8 7Dупп 

=4Eеле=8O уEло689 длO 74=Oт89 D878GеEко9 

кулLтуDо9 8 EпоDто<, <4EEо6K< EпоDто<, 6 

то< G8Eле по6KHе=8е уDо6=O о5еEпеGе==оEт8 

=4Eеле=8O о5Jект4<8 EпоDт4, 4 т4к6е 

под7ото6к4 EпоDт86=о7о Dе7еD64 (!поDт-
=оD<4 687=8) 

Ф8=4=Eо64O поддеD6к4 Eе<е9 пD8 Dо6де=88 

дете9  

!о7д4=8е уEло689 длO оEуIеEт6ле=8O 

тDудо6о9 деOтелL=оEт8 6е=I8= E детL<8, 
6клNG4O л8к68д4F8N оGеDед8 6 OEл8 длO 

дете9 до тDеE лет  

 47D45отк4 8 Dе4л874F8O пDо7D4<<K 

E8Eте<=о9 поддеD6к8 8 по6KHе=8O к4GеEт64 

687=8 7D46д4= Eт4DHе7о поколе=8O (!т4DHее 

поколе=8е) 

ФоD<8Dо64=8е E8Eте<K <от864F88 7D46д4= к 

7доDо6о<у о5D47у 687=8, 6клNG4O 7доDо6ое 

п8т4=8е 8 отк47 от 6Dед=KE пD86KGек 

(УкDеплен8е общеEт6енно7о 7доDо6ья) 

О!�О��/�  ��'Л0&�&/ 

 У6ел8G8тL о68д4е<уN пDодол68телL=оEтL 7доDо6о9 687=8 до 67 лет 
 У6ел8G8тL Eу<<4D=K9 коMDD8F8е=т Dо6д4е<оEт8 ( E 1,6 =4 1 6е=I8=у 6 2018 7оду  до 1,7 дете9 6 2024 7оду) 
 У6ел8G8тL долN 7D46д4=, 6едуI8E 7доDо6K9 о5D47 687=8 (E 1718 тKE. Gел 6 2018 7оду до 2997 тKE. Gел 6 2024 7оду) 
 У6ел8G8тL долN 7D46д4=, E8Eте<4т8GеEк8 74=8<4NI8EEO D878GеEко9 кулLтуDо9 8 EпоDто< (E 37,6 6 2018 7оду до 55% 6 

2024 7оду). 
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�доDо6Pе =4 85% 7468E8т от D4ктоDо6 6=еH=е7о <8D4 

8 6Eе7о =4 15% от 7е=о<4 «QкоE8Eте<O» E4<о7о Gело6ек4 
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'К ��Л���� О�)�!&����О�О ��О О�0/ 

Ц�ЛЬ: о5еEпеGе=8е к 2024 7оду у6ел8Gе=8O дол8 7D46д4=, 6едуI8E 
7доDо6K9 о5D47 687=8. 

����'� � О�К&� 

 ФоD<8Dо64=8е EDедK, EпоEо5Eт6уNIе9 6еде=8N 7D46д4=4<8 
7доDо6о7о о5D474 687=8, 6клNG4O 7доDо6ое п8т4=8е (6 то< 
G8Eле л8к68д4F8N <8кDо=утD8е=т=о9 =едоEт4тоG=оEт8, 
EокD4Iе=8е потDе5ле=8O Eол8 8 E4E4D4), 74I8ту от т454G=о7о 
дK<4, E=86е=8е потDе5ле=8O 4лко7олO.  4768т8е 
8=DD4EтDуктуDK о5IеEт6е==о7о 7доDо6LO, по6KHе=8е 
о5еEпеGе==оEт8 к4дD4<8 6 EDеDе о5IеEт6е==о7о 7доDо6LO. 
 

 �от868Dо64=8е 7D46д4= к 6еде=8N 7доDо6о7о о5D474 687=8 
поEDедEт6о< пDо6еде=8O 8=DоD<4F8о==о-

ко<<у=8к4F8о==о9 к4<п4=88, 4 т4к6е 6о6леGе=8O 7D46д4= 8 
=еко<<еDGеEк8E оD74=874F89 6 <еDопD8Oт8O по укDепле=8N 
о5IеEт6е==о7о 7доDо6LO. 
 

  47D45отк4 8 6=едDе=8е пDо7D4<< укDепле=8O 7доDо6LO =4 
D45оGе< <еEте (коDпоD4т86=KE пDо7D4<< укDепле=8O 
7доDо6LO) 
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 о7=8G=Oе пDод468 
E874Dет  8 п4п8DоE =4 дуHу 
=4Eеле=8O (тOEOG Hтук) 

2017 2024 

2,05 1,7 

 о7=8G=Oе пDод468 
4лко7олO =4 дуHу 

=4Eеле=8O (6 л8тD4E) 

2017 2024 

9,5 9,2 

!<еDт=оEтP <у6G8= 6 
6о7D4Eте  16-59 лет  

(=4 100 тOE. =4Eеле=8O) 

2017 2024 

888,0 649 

!<еDт=оEтP 6е=I8= 6 
6о7D4Eте  16-54 лет  

(=4 100 тOE. =4Eеле=8O) 

2017 2024 

259,3 232,8 

О5D4I4е<оEтP 6 <ед8F8=Eк8е 
оD74=874F88 по 6опDоE4<  7доDо6о7о 

о5D474 687=8 (тOEOG Gело6ек) 

2017 2024 

2,5 4,5 

У��Л�Ч���� 

!������� 

�О!&������ &�Л�� ��&�О��Л0�О�О � О�К&� «���О� �$�/» 

 у6ел8Gе=8N о68д4е<о9 пDодол68телL=оEт8 7доDо6о9 687=8 до 67 лет;  
 у6ел8Gе=8е о5D4I4е<оEт8 6 <ед8F8=Eк8е оD74=874F88 по 6опDоE4< 7доDо6о7о о5D474 687=8, 6 то< G8Eле 

у6ел8Gе=8е G8Eл4 л8F, котоDK< Dеко<е=до64=K 8=д868ду4лL=Kе пл4=K по 7доDо6о<у о5D47у 687=8; 

 у6ел8Gе=8е о68д4е<о9 пDодол68телL=оEт8 687=8 до 78 лет к 2024 7оду;  

 у6ел8Gе=8е Eу<<4D=о7о коMDD8F8е=т4 Dо6д4е<оEт8; 

 у6ел8Gе=8е дол8 7D46д4=, E8Eте<4т8GеEк8 74=8<4NI8EEO D878GеEко9 кулLтуDо9 8 EпоDто<. 
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«МO Eот8< пеDеEтDуктуD8Dо64тP Fе=тDO 7доDо6PO. ИE у =4E <=о7о 6 EтD4=е. О=8 

E6оN DолP 6=еEл8, 5е7уEло6=о, =о <O Eот8< 87 =8E Eдел4тP Fе=тDO о5IеEт6е==о7о 

7доDо6PO - <у=8F8п4лP=Oе Fе=тDO, котоDOе Eо7д464л8 5O <=о7опDоD8лP=Oе 

пDо7D4<<O - «7доDо6O9 7оDод», «7доDо6O9 <у=8F8п4л8тет», «7доDо6ое Eело», 7де 6Eе 

7D4=8 DоD<8Dо64=8O 7доDо6PO пD8EутEт6о64л8». 

&е=тDO о5IеEт6е==о7о 7доDо6PO дол6=O Eт4тP пу=кт4<8  <етодоло78GеEко9 
поддеD6к8 6 G4Eт8 Dе4л874F88 пDо7D4<< о5IеEт6е==о7о 7доDо6PO E 
8EполP7о64=8е< Eо6Dе<е==OE ко<<у=8к4F8о==OE DоD<4то6.  

  е4л874F8O =4 теDD8тоD88 <у=8F8п4лL=о7о 
о5D47о64=8O пDо7D4<< по пDоD8л4кт8ке 
=е8=DекF8о==KE 745оле64=89 (���) 8 
DоD<8Dо64=8N 7доDо6о7о о5D474 687=8 (�О�), 
котоDKе 5удут 6клNG4тL <еDопD8Oт89 по 
E=86е=8N де9Eт68O оE=о6=KE D4ктоDо6 D8Eк4 
���, пеD68G=о9 пDоD8л4кт8ке 745оле64=89 
полоEт8 Dт4, 4 т4к6е <еDопD8Oт89, 
=4пD46ле==KE =4 пDоD8л4кт8ку 745оле64=89 
DепDодукт86=о9 EDеDK у <у6G8=; 
 

 ОD74=874F8O <е66едо<Eт6е==о7о 
6748<оде9Eт68O по 6опDоE4< DоD<8Dо64=8O 
�О�; 

 �Dо6еде=8е <4EEо6KE <еDопD8Oт89, 4кF89, 
ко=DеDе=F89, поE6OIе==KE пDоп474=де 
пD8=F8по6 �О�; 
 

 �=едDе=8е 6 пD4кт8ку Eо6Dе<е==KE 
доEт86е=89 6 о5л4Eт8 пDоD8л4кт8к8 ��� 8 
DоD<8Dо64=8O �О�; 
 

 �=едDе=8е EтD4те788 D45отK E пDедпD8Oт8O<8 
о5IеEт6е==о7о п8т4=8O, коDпоD4т86=K< 
EектоDо< 8 <у=8F8п4лL=K<8 6л4EтO<8, 
6клNG4O уG4Eт8е 6 пл4=8Dо64=88 7оDодEко9 
EDедK.  

О������/�  ��'Л0&�&/: 
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1 Fе=тD <ед8F8=Eко9 пDоD8л4кт8к8  
(7. !KктK6к4D 6 EтDуктуDе �У « �Ф�») 
 

8 отделе=89 <ед8F8=Eко9 пDоD8л4кт8к8  
(7. !KктK6к4D - 3, 7. УEт4, 7. �оDкут4, 7. �=т4, 
7. �еGоD4, 7. УE8=Eк,); 
 

26 к458=ето6 <ед8F8=Eко9 пDоD8л4кт8к8 

 (!KктK6к4D - 6; !оE=о7оDEк89 - 3, 

КоDткеDоE - 2, УEтL-�K<Eк89 - 2 6 оEт4лL=KE 
D49о=4E по  од=о<у); 
 

3 &е=тD4 7доDо6PO длO 67DоEлOE 
(!KктK6к4D, УEт4, �оDкут4). 

!Л'��� ����&��!КО� � О$�Л�К&�К� 



$4кт &�� 2019 7од 

!тDуктуD4 Dе78о=4лP=о7о Fе=тD4 <ед8F8=Eко9 
пDоD8л4кт8к8 6 �D8к47е  

��  $ №683= от 30.09.2015 

!тDуктуD4 Dе78о=4лP=о7о Fе=тD4 о5IеEт6е==о7о 
7доDо6PO 8 <ед8F8=Eко9 пDоD8л4кт8к8 

�о6ое! 

1. Отдел <е66едо<Eт6е==OE E6O7е9, оD74=874F88 
8 пDо6еде=8O <еDопD8Oт89 6 о5л4Eт8 

пDоD8л4кт8к8 %���, DоD<8Dо64=8O �О�, 
7878е=8GеEко7о о5уGе=8O 8 6оEп8т4=8O. 

1. Отдел <е66едо<Eт6е==KE E6O7е9 8 
ко<плекE=KE пDо7D4<< пDоD8л4кт8к8 

1. Отдел 4=4л874 8 EтD4те78GеEко7о пл4=8Dо64=8O 

2. Отдел оD74=874F8о==о-<етод8GеEко7о 
о5еEпеGе=8O пDоD8л4кт8GеEко9 D45отO 8 

<о=8тоD8=74 7доDо6PO. 

2. Отдел оD74=874F8о==о-<етод8GеEко7о 
о5еEпеGе=8O пDоD8л4кт8GеEко9 D45отK 

2. Отдел <е66едо<Eт6е==о7о 6748<оде9Eт68O, 
ко<<у=8к4F8о==KE 8 о5IеEт6е==KE пDоекто6 

3. Отдел под7ото6к8 8 т8D468Dо64=8O 
<ед8F8=Eк8E 8 8=DоD<4F8о==OE <4теD84ло6. 

3. Отдел под7ото6к8 8 т8D468Dо64=8O 3. Отдел <о=8тоD8=74 D4ктоDо6 D8Eк4 

  4. Отдел <о=8тоD8=74 7доDо6LO 4. Отдел D47D45отк8, Dе4л874F88 8 оFе=к8 
коDпоD4т86=KE пDо7D4<< 

4. Ко=EулPт4т86=о-о7доDо68телP=O9 отдел. 5. Отдел ко=EулLт4т86=о-о7доDо68телL=K9 5. Отдел  <у=8F8п4лL=KE пDо7D4<< 
о5IеEт6е==о7о 7доDо6LO 

  6. Отдел оD74=874F88 8 пDо6еде=8O <еDопD8Oт89 
6 о5л4Eт8 7878е=8GеEко7о о5уGе=8O 8 6оEп8т4=8O 

6. Отдел  оD74=874F88 <ед8F8=Eко9 пDоD8л4кт8к8 

16,5 Eт46ок 39,5 Eт46ок 45,5 

��������� !& 'К&' / 

8 
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«МO Eт4D4е<EO, Gто5O Qто 5Oл4 ODк4O коDотк4O 8=DоD<4F8O длO дете9, длO 

<олоде68, длO лNде9 дDу78E 6о7D4Eт=OE 7Dупп — D47=4O, 8=теD=ет-Dол8к8, 
68деоDол8к8 длO теле6878о==OE к4=4ло6, 4уд8оDол8к8, ко7д4 тO едеHP 6 <4H8=е. 

Это дол6=о пDоEод8тP к4к DеDDе= (7л46=4O те<4) 6 теGе=8е 6Eе7о D45оGе7о д=O».  

пDоп474=д4 EокD4Iе=8O 
потDе5ле=8O 4лко7олO 

пDоп474=д4 EокD4Iе=8O 
потDе5ле=8O т454к4  

пDоп474=д4 от6етEт6е==о7о 
от=оHе=8O к D4F8о=у п8т4=8O 

пDоп474=д4 от6етEт6е==о7о 
от=оHе=8O к DепDодукт86=о<у 
7доDо6PN 

�4Eеле=8е 

!оED4=е=8е  
7доDо6PO 

�=DоD<4F8о==о- 

ко<<у=8к4F8о==4O  
к4<п4=8O 

��$О ��&�О��О-КО��'��К�&�О���/ 
К������/  

�8=7дD46 уEт4л  
пDедупDе6д4тP. 

&епеDP о= ут6еD6д4ет  
– «&O E8лP=ее».  
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��$О ��&�О��О-КО��'��К�&�О���/ 
К������/  

10 

!оF84лP=4O Dекл4<4, теле6878о==Oе пеDед4G8, 
EN6етO =4 Dе78о=4лP=о< теле68де=88 

�OEт46к8 8 <4EEо6Oе 4кF88 

ЛекF88 �уклетO, 5DоHNDO,  
п4<Oтк8, л8Eто6к8  
длO =4Eеле=8O 

(колO 7доDо6PO 

�4Dу6=4O Dекл4<4 

�6то5уEO 7доDо6PO 

�47етO 
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«ОтделP=4O DолP у =еко<<еDGеEк8E оD74=874F89, котоDOе т4к6е дол6=O 5OтP 

4кт86=о 6о6леGе=O 6 укDепле=8е 7доDо6PO, 8=O<8 Eло64<8, =4H4 7л46=4O 74д4G4 — 

Eо6<еEт=о E пDоDеEE8о=4лP=O<8 8 п4F8е=тEк8<8 Eоо5IеEт64<8, дDу78<8 оD74=4<8 

6л4Eт8 8 Dе78о=4<8 6OEтDо8тP ед8=уN E8Eте<у о5IеEт6е==о7о 7доDо6PO 6 =4Hе9 

EтD4=е». 

�=DоD<4F8O о5 о5JO6ле=88 ко=куDEо6 
D47<еIе=4 =4 E49те �8=8EтеDEт64 
7дD46ооED4=е=8O  еEпу5л8к8 Ко<8 6 
подD47деле «�748<оде9Eт68е E EоF84лL=о-

оD8е=т8Dо64==K<8 =еко<<еDGеEк8<8 8 
до5Dо6олLGеEк8<8 (6оло=теDEк8<8) 
оD74=874F8O<8» 

�оEт4=о6ле=8е �D468телLEт64  еEпу5л8к8 

Ко<8 от 30 O=64DO 2018 7. №46 «О5 

ут6еD6де=88 поDOдк4 пDедоEт46ле=8O 

Eу5E8д89 74 EGет EDедEт6 DеEпу5л8к4=Eко7о 

5Nд6ет4  еEпу5л8к8 Ко<8 =еко<<еDGеEк8< 

оD74=874F8O<, =е O6лONI8<EO 

7оEуд4DEт6е==K<8 уGDе6де=8O<8, 
оEуIеEт6лONI8< E6оN деOтелL=оEтL =4 

теDD8тоD88  еEпу5л8к8 Ко<8 6 EDеDе 

7дD46ооED4=е=8O». 

� ��Л�'���� !О&��Л0�О О ���&� О����/%  
��КО��� '�!К�% О ������&�� � �ОЛО�&� !К�% �������� 
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 Eо7д4=8е уEло689 длO 6еде=8O 8 пDод686е=8O 

7доDо6о7о о5D474 687=8; 

 E=86е=8е де9Eт68O D4ктоDо6 D8Eк4 ��� 

(пDоD8л4кт8к4 куDе=8O 8 по<оIL 6 отк47е от 
т454к4; D4EH8Dе=8е D878GеEко9 4кт86=оEт8; 

E=86е=8е уDо6=O EтDеEE4; пDод686е=8е 

пD8=F8по6 7доDо6о7о п8т4=8O); 
 пDо6еде=8е EкD8=8=74 8 D4==е7о 6KO6ле=8O 

745оле64=89, 6о6леGе=8е D45от=8ко6 6 

пDо7D4<<K по укDепле=8N 7доDо6LO =4 D45оGе< 

<еEте, 4 т4к6е 6 пDо7D4<<K, Dе4л87уе<Kе 

Dе78о=4лL=K< 8/8л8 <у=8F8п4лL=K< Fе=тDо< 

о5IеEт6е==о7о 7доDо6LO. 

�Dо7D4<<O 7доDо6PO =4 D45оGе< 
<еEте Dеко<е=до64=O: 

Отт46Eко9 E4Dт8е9 1986 7. по 
укDепле=8N 7доDо6PO 

�64к4DтEко9 декл4D4F8е9 1997 7. по 
66еде=8N E8Eте<O укDепле=8O  

7доDо6Pе< 6 XXI 6ек 

�4=7кокEко9 E4Dт8е9 2005 7. по 
укDепле=8N 7доDо6PO 6 

7ло54л87о64==о< <8Dе 8 дD. 

�4G8=4O E 1990 77 6 Qко=о<8GеEк8 

D4768тOE EтD4=4E 40-80% EDед=8E 8 

кDуп=OE ко<п4=89 Dе4л87уNт пDо7D4<<O 

укDепле=8O 7доDо6PO =4 D45оGе< <еEте 

��� ��Л���/ КО �О �&���/% 
� О� ���/ 'К ��Л���/ ��О О�0/ �� 

 ��О'�� ��!&� 

КО �О �&���/� � О� ���/ 'К ��Л���/ 
��О О�0/ ��  ��О'�� ��!&�  



�BDCBD0F82AO5 CDB3D0@@O CB 
G>D5C?5A8N 74BDB2PO D01BFA8>B2  

���!/ 
�� �� �"���/Х � �� ��� 
#� ������/ ��� ��0/ 
!�" #������ 

 
�BDCBD0F82AO5 
@B45?PAO5 CDB3D0@@O  
#� ������� ��� ��0/ 
 ���"�.Щ�Х 
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��������! 

14 


